Best model for HELP J105005.062+584431.244 at z = 0.885 x2=3.24
OPTx2=4.12 IRx?=1.97 threshold (OPT IR)=15.08 [um]

2 : Stellar attenuated
10 E = he Stellar unattenuated
] - —— Dust emission
1 —— AGN emission
101 3 . = Model spectrum
3 ® Model fluxes
] M oObserved fluxes
100 4
Ly E
> 4
£
= 1071 5
X E
2 ] '"yl’f\"“ﬁ—.-.._jﬂ'l"‘-r""" '''' ”—'\\A
[N - \
10 2 |
10—3 4
=}
—
© =f= (Obs-Mod)/Obs
=}
S
n
O OfF==fF==dgplmmc e et N e -
bt ]
) ]
2 ]
5 ]
o -1~ ClGAL
()
(o'

10° 10! 107 103 104 A
Observed wavelength [um]



